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QUESTION 1

By default, when does the PushToCredStore agent run when a widget is approved on the master server? 

A. immediately 

B. once every hour 

C. once every two hours 

D. once per day at 12:00 AM 

Correct Answer: B 

 

QUESTION 2

Which will ensure that a container will attempt to render the gadget regardless of container support for views? 

A. Version 

B. Default View 

C. Preview Image 

D. SpecificationVersion 

Correct Answer: A 

 

QUESTION 3

Which event is defined in the OpenSocial Gadget lifecycle events? 

A. HELO 

B. Listen 

C. Opened 

D. Connected 

Correct Answer: C 

 

QUESTION 4

How would this markup be corrected? 
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Hello ${viewer.Name}!

A. There is no flaw with the markup as shown. 

B. The expression should be referenced {$viewer.Name}. 

C. The script type must be . 

D. The variable viewer. Name must be tested for null prior to use in an expression. 

Correct Answer: C 

 

QUESTION 5

IBM Connections supports automatic authorization of trusted clients. What must be performed to register an arbitrary
client? 

A. Register the client using basic authentication through an OpenSocial stream. 

B. Obtain the client secret and update the opensocial-config.xml with the provided code. 

C. Edit the opensocial-config.xml and add the new authorized client within the trusted clients. 

D. Register the client using the wsadmin tool and execute OAuthApplicationRegistrationService.addApplication
command with all required parameters. 

Correct Answer: A 
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